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OBAUSSIOE &4 S AHAIEE H 25 0F
SNy ) 37,200 47,480 A10,280
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—-%ls 282 6,500,0009 * 14l 6,500 0 6,500
—-Jlxd=2 X3 81,9602 14 82 0 82
—SEHLUESHNUSS AL AMHIA(0]
x) 7602 * 124 1 0 1
—LOEEEEMUA S BX
2,961,2209 = 14 2,962 0 2,962
—LQEEEEAMHIA I EX(0IAH)
226,550 * 124 227 0 227
—LOESI2MHAMNY X
106,920% * 14 107 0 107
— SDIJFAFMHIA S0 BX 28,2408 * 14 29 0 29




2N =0IMEXA
HH: WRES(FUMEX2D)(MASX /0l - HAH)
o BEXE (chel & 9l)
SAH M -H2A () - MEAY - BES Ol A o4 Iy Hws2
— SO DJFAFAEI A SO 2 X (01X
2,320& * 14 3 0 3
—d2Y 23d X 5,263, 710& = 14 5,264 0 5,264
—Logdxiel € AMSESXE =0
439,180& * 14 440 0 440
— L2 AE 2l X2 (0IX)
23,100& * 14 24 0 24
—Lo=XNANE JIsEL MY
3,505,000& = 14| 3,505 0 3,505
—HAEYNZOIIHHO 2 Z XA (0IA)
2,280 * 14| 3 0 3
020174 858,433 1,766, 106 A907,673
—S5e2lus 720,365,000 * 14 720,365 1,628,038 A907,673




